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Name: __________________________________



1
The expression [image: image1.png]%i(ai - 6i%)



 is equivalent to

	1)
	[image: image2.png]3a + 18





	2)
	[image: image3.png]3a - 18i





	3)
	[image: image4.png]—3a + 18i





	4)
	[image: image5.png]-3 — 18i







2
The expression [image: image6.png]6xi° (421 + 5)



 is equivalent to

	1)
	[image: image7.png]2x — 5i





	2)
	[image: image8.png]_24x% — 30x





	3)
	[image: image9.png]_24x% + 30x—






	4)
	[image: image10.png]26x— 24x% — 5i







3
If [image: image11.png]A

-3+ 5



, [image: image12.png]B=4-2



, and [image: image13.png]C'=1+6i



, where i is the imaginary unit, then [image: image14.png]


 equals

	1)
	[image: image15.png]5-17





	2)
	[image: image16.png]5+ 27





	3)
	[image: image17.png]-19- 17





	4)
	[image: image18.png]-19+ 27







4
Given that i is the imaginary unit, the expression [image: image19.png](x - 2)°



 is equivalent to

	1)
	[image: image20.png]




	2)
	[image: image21.png]




	3)
	[image: image22.png]




	4)
	[image: image23.png]






5
Given i is the imaginary unit, [image: image24.png](2-yi)?



 in simplest form is

	1)
	[image: image25.png]Ve —dyi+ 4





	2)
	[image: image26.png] —dyi+ 4





	3)
	[image: image27.png]7+ 4





	4)
	[image: image28.png]






6
Which expression is equivalent to [image: image29.png](3k - 21)*



, where i is the imaginary unit?

	1)
	[image: image30.png]




	2)
	[image: image31.png]9k? 4+ 4





	3)
	[image: image32.png]92 — 12ki—4





	4)
	[image: image33.png]92 — 12ki + 4







7
The expression [image: image34.png]6 (3x-21)°



 is equivalent to

	1)
	[image: image35.png]—9x? 4 1273 + 10





	2)
	[image: image36.png]9x — 12xi + 2





	3)
	[image: image37.png]_9x? 4 10





	4)
	[image: image38.png]0x? 4 12xi—4i+ 6







8
Where i is the imaginary unit, the expression [image: image39.png](x+30)% - (2x - 30)°



 is equivalent to

	1)
	[image: image40.png]_3x°





	2)
	[image: image41.png]_3x2-18





	3)
	[image: image42.png]_3x2 + 18





	4)
	[image: image43.png]_3x2 — 6xi— 18







9
Which expression is equivalent to [image: image44.png](2x-1)% - (2x - )(2x + 3)



 where i is the imaginary unit and x is a real number?

	1)
	[image: image45.png]—4 — 8xi





	2)
	[image: image46.png]—4 — 4xi





	3)
	2

	4)
	[image: image47.png]8x— 43







10
Expressed in simplest [image: image48.png]a + bi



 form, [image: image49.png](7-38) + (x— 20)° - (41 + 2x%)



 is

	1)
	[image: image50.png](3-2%) - (4x+ Thi





	2)
	[image: image51.png](3+ 3x%) - (d4x+ T





	3)
	[image: image52.png](3-2%) -





	4)
	[image: image53.png](3+3x%) -7







11
Which expression is equivalent to [image: image54.png](x+ )z - xpi - )



, where i is the imaginary unit?

	1)
	[image: image55.png]x4yt





	2)
	[image: image56.png]Gt -+






	3)
	[image: image57.png]




	4)
	[image: image58.png]






12
If [image: image59.png](6 - ki)®




, the value of k is

	1)
	[image: image60.png]-36





	2)
	[image: image61.png]




	3)
	3

	4)
	6



13
Simplify [image: image62.png]xi(i - 7)°



, where i is the imaginary unit.

14
Given i is the imaginary unit, simplify [image: image63.png](5x° - 41)°



 as a polynomial in standard form.

15
Express [image: image64.png][Zm3 - Zyjz



 in simplest form.

16
Express [image: image65.png](1-°



 in [image: image66.png]a + bi



 form.

17
Write [image: image67.png](5+ 2y5)(4 - 35) - (5- 2y0)(4 - 31)



 in [image: image68.png]a + bi



 form, where y is a real number.

18
Write [image: image69.png],%,3[574]7312



 in simplest [image: image70.png]a + bi



 form.

19
Elizabeth tried to find the product of [image: image71.png](2+45)



 and [image: image72.png]


, and her work is shown below.

[image: image73.png](@+45)(3-1)
621+ 121- 45°

6+ 105 - 4
- 6+ 10 - 4(1)
6+ 10 -4
24108







Identify the error in the process shown and determine the correct product of [image: image74.png](2+45)



 and [image: image75.png]





1
ANS:
3

[image: image76.png]Yi(ai - 6:%) = 3ai®





REF:
062307aii

2
ANS:
2

[image: image77.png]



REF:
061704aii

3
ANS:
3

[image: image78.png]—3+5:—[4+zm—z:—1z:’] T 5i— (164 22) = ~19 - 17




REF:
081815aii

4
ANS:
4

[image: image79.png]



REF:
082202aii

5
ANS:
2

[image: image80.png]27— yi)(2 -
(2-y)(2-yi) = 4—4yi+y'i* =y —dyi+ 4





REF:
061603aii

6
ANS:
3

[image: image81.png](3k - 20)* = 9k* - 12ki + 4¢° = 9k* - 12ki - 4





REF:
081702aii

7
ANS:
1

[image: image82.png]6 (3x— 2)(3x - 20) = 6— [sxk mwu’]




REF:
061915aii

8
ANS:
3

[image: image83.png](o 3)* = (2x-30)% = 22+ 634 087 — [4x’— 1z>a+sx’] —32% + 18





REF:
061805aii

9
ANS:
1

[image: image84.png](2x-1)" - (2x-1)(2x+ 3)
(2= {25 -1) - (2 + )]
(x-)-4)
8+ 41

—8xi-4




REF:
011911aii

10
ANS:
1

[image: image85.png]T-Bi+xt —dxi+ 4 —di- 20 = T-Ti-x —dxi-4

- x%) - (4x+ T




REF:
012022aii

11
ANS:
4

[image: image86.png]X -2yt e -t -y




REF:
062223aii

12
ANS:
3

[image: image87.png](6-ki)* = 27- 361

36 - 12k + k%1* = 27- 361

09— k% — 12ki = —36i





Set real part equal to real part:  [image: image88.png]


  Set imaginary part equal to imaginary part:  [image: image89.png]—12ki = =361

12k _ =36
SR

k=3





REF:
012308aii

13
ANS:


[image: image90.png]xi(—6i)?

(36

i

36




REF:
081627aii

14
ANS:


[image: image91.png]2528 + 40x® + 16:° = -25x% - 40x - 16





REF:
082329aii

15
ANS:


[image: image92.png]2
[zﬁ—y] = 4240 122y5% + 9? = —4x? 4 12237+ 9




REF:
012431aii

16
ANS:


[image: image93.png](1-D(1-d(1-




REF:
011725aii

17
ANS:


[image: image94.png](4= 30)(5+ Zyi = 5+ 2p3)
@= 304
16yt - 1217

12y + 161




REF:
spr1506aii

18
ANS:


[image: image95.png]



REF:
081927aii

19
ANS:


[image: image96.png]


, and not 1;  [image: image97.png]10+ 10§




REF:
011825aii
